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MID-POINT THEOREM

3 Marks Question

1. D, E and F are the mid-points of the sides AB,

BC and CA of an isosceles triangle ABC in

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_zsxXnl8CKlFb


which AB = BC. Prove that  is also

isosceles.

Watch Video Solution

ΔDEF

2. D, E and F are the mid-points of the sides AB,

BC and CA respectively of A ABC. AE meets DF

at O. P and Q are the mid-points of OB and OC

respectively. Prove that DPOF is a

parallelogram.

Watch Video Solution

https://dl.doubtnut.com/l/_zsxXnl8CKlFb
https://dl.doubtnut.com/l/_BWKlHUna3gML
https://dl.doubtnut.com/l/_B8pFC1ZI226P


3. In triangle ABC, P is the mid-point of side BC.

A line through P and parallel to CA meets AB

at point Q and a line through Q and parallel to

BC meets median AP at point R. Prove that : 

Watch Video Solution

AP = 2AR

4. In triangle ABC, P is the mid-point of side BC.

A line through P and parallel to CA meets AB

at point Q and a line through Q and a line

through Q and parallel to BC meets median AP

https://dl.doubtnut.com/l/_B8pFC1ZI226P
https://dl.doubtnut.com/l/_P1UeI5XSIevl


at point R. Prove that : 

.

Watch Video Solution

BC = 4QR

5. In trapezium ABCD, AB is parallel to DC. P

and Q are the mid-points of AD and BC

respectively. BP product meets CD produced at

point E. Prove that : 

Point P bisects BE,

Watch Video Solution

https://dl.doubtnut.com/l/_P1UeI5XSIevl
https://dl.doubtnut.com/l/_6LJzRSjAlbIg
https://dl.doubtnut.com/l/_75ImnGQrO4gG


6. In trapezium ABCD, AB is parallel to DC. P

and Q are the mid-points of AD and BC

respectively. BP produced meets CD produced

at point E. Prove that : 

PQ is parallel to AB.

Watch Video Solution

7. In a triangle ABC, AD is a medium and E is

mid-point of median AD. A line through B and

E meets AC at point F.

Watch Video Solution

https://dl.doubtnut.com/l/_75ImnGQrO4gG
https://dl.doubtnut.com/l/_HdqpnHH0AsZO


8. In the given figure, M is mid-point of AB and

DE, whereas N is mid-point of BC and DF. Show

that : EF = AC. 

Watch Video Solution

https://dl.doubtnut.com/l/_HdqpnHH0AsZO
https://dl.doubtnut.com/l/_Z4AlPvsbqiNj


9. In triangle ABC, the medians BP and CQ are

produced upto points M and N respectively

such that BP = PM and CQ = QN. Prove that: 

M, A and N are collinear.

Watch Video Solution

10. In triangle ABC, the medians BP and CQ are

produced upto points M and N respectively

such that . ProveBP = PM and CQ = QN

https://dl.doubtnut.com/l/_xwkKpMF9qCy3
https://dl.doubtnut.com/l/_dxraueYnhrfk


that : 

A is the mid-point of MN.

Watch Video Solution

11. In triangle ABC, M is mid-point of AB, N is

mid-point of AC and D is any point in base BC.

Use Intercept Theorem to show that MN

bisects AD.

Watch Video Solution

https://dl.doubtnut.com/l/_dxraueYnhrfk
https://dl.doubtnut.com/l/_alh6jeOEb5QX


12. In the given figure, AD and CE are medians

and . Prove that : . 


Watch Video Solution

DF ∣ ∣ CE FB = AB
1

4

13. In parallelogram ABCD, E is the mid-point of

AB and AP is parallel to EC which meets DC at

point O and BC produced at P. Prove that : 

https://dl.doubtnut.com/l/_nlJXd7S9qDqX
https://dl.doubtnut.com/l/_YY2ixbzkDOcZ


 


Watch Video Solution

BP = 2AD

14. In parallelogram ABCD, E is the mid-point of

AB and AP is parallel to EC which meets DC at

https://dl.doubtnut.com/l/_YY2ixbzkDOcZ
https://dl.doubtnut.com/l/_KGWgPmIvOQZG


4 Marks Question

point O and BC produced at P. Prove that: 

 


O is mid-point of AP.

Watch Video Solution

https://dl.doubtnut.com/l/_KGWgPmIvOQZG
https://dl.doubtnut.com/l/_ufmBUlBL4Zy6


1. Prove that the figure obtained by joining the

mid-points of the adjacent sides of a rectangle

is a rhombus.

Watch Video Solution

2. The diagonals of a quadrilateral intersect at

right angles. Prove that the figure obtained by

joining the mid-points of the adjacent sides of

the quadrilateral is a rectangle.

Watch Video Solution

https://dl.doubtnut.com/l/_ufmBUlBL4Zy6
https://dl.doubtnut.com/l/_Ygw7hk3UwmiA


3. L and M are the mid-points of sides AB and

DC respectively of parallelogram ABCD. Prove

that segments DL and BM trisect diagonal AC.

Watch Video Solution

4. ABCD is a
 rectangle and P, Q, R and S are

mid-points of the sides AB, BC, CD and DA

respectively.
 Show that the quadrilateral PQRS

is a rhombus.

Watch Video Solution

https://dl.doubtnut.com/l/_14iQ5NvUqhlu
https://dl.doubtnut.com/l/_kV6MJCuqEaTD


5. A parallelogram ABCD has P the mid-point of

DC and Q a midpoint of AC such that

 produced meets BC at R.

Prove that: 

 

R is the mid-point of BC

CQ = AC. PQ
1

4

https://dl.doubtnut.com/l/_kV6MJCuqEaTD
https://dl.doubtnut.com/l/_8feHo6HLoW2H


Watch Video Solution

6. D and F are the mid-points of sides AB and

AC of a triangle ABC. A line through F and

parallel to AB meets BC at point E. 

Prove that BDFE is a parallelogram

Watch Video Solution

7. D and F are the mid-points of sides AB and

AC of a triangle ABC. A line through F and

https://dl.doubtnut.com/l/_8feHo6HLoW2H
https://dl.doubtnut.com/l/_8461IrJauf6y
https://dl.doubtnut.com/l/_9FFYBHINb5KY


parallel to AB meets BC at point E. 

Find AB, if .

Watch Video Solution

EF = 4.8cm

8. In the figure, given below,  is

the mid-point of AB, Q is the mid-point of DR

and . Prove that : 


2AD = AB, P

PR ∣ ∣ BS

https://dl.doubtnut.com/l/_9FFYBHINb5KY
https://dl.doubtnut.com/l/_pmuB8q6Jqs5j


 


Watch Video Solution

AQ ∣ ∣ BS

9. In the figure, given below,  is

the mid-point of AB, Q is the mid-point of DR

and . Prove that : 


2AD = AB, P

PR ∣ ∣ BS

https://dl.doubtnut.com/l/_pmuB8q6Jqs5j
https://dl.doubtnut.com/l/_riO3Sl7Oa3p4


 

Watch Video Solution

DS = 3RS

10. In parallelogram ABCD, E and F are mid-

points of the sides AB and CD respectively. The

lines segments AF and BF meet the line

https://dl.doubtnut.com/l/_riO3Sl7Oa3p4
https://dl.doubtnut.com/l/_44GEYOQ4ZTkW


segments ED and EC at points G and H

respectively. Prove that : 

triangle HEB and FHC are congruent.

Watch Video Solution

11. In parallelogram ABCD, E and F are mid-

points of the sides AB and CD respectively. The

lines segments AF and BF meet the line

segments ED and EC at points G and H

respectively. Prove that : 

GEHF is a parallelogram.

https://dl.doubtnut.com/l/_44GEYOQ4ZTkW
https://dl.doubtnut.com/l/_Ut8ZatPcCA0g


Watch Video Solution

12. In the given figure, ABCD is a parallelogram.

AB is produced to P, such that

 is drawn parallel to BC to

meet AC produced at Q. Given

. 


AB = BP and PQ

AB = 8cm, AD = 5cm, AC = 10cm

https://dl.doubtnut.com/l/_Ut8ZatPcCA0g
https://dl.doubtnut.com/l/_qi5oZ5u2NFdE


Prove that point C is mid-point of AQ. 

Watch Video Solution

13. In the given figure, ABCD is a parallelogram.

AB is produced to P, such that

 is drawn parallel to BC to

meet AC produced at Q. Given

AB = BP and PQ

https://dl.doubtnut.com/l/_qi5oZ5u2NFdE
https://dl.doubtnut.com/l/_pMIHTHWjhJV8


. 


Find the perimeter of quadrilateral BCQP. 

Watch Video Solution

AB = 8cm, AD = 5cm, AC = 10cm

14. In the given figure ABCD is a trapezium, P is

the mid-point of side AD and . 
PR||AB||DC

https://dl.doubtnut.com/l/_pMIHTHWjhJV8
https://dl.doubtnut.com/l/_RakMkOY75fWl


 


Prove that R is the mid-point of side BC

Watch Video Solution

15. In the given figure ABCD is a trapezium, P is

the mid-point of side AD and . 


 


PR||AB||DC

https://dl.doubtnut.com/l/_RakMkOY75fWl
https://dl.doubtnut.com/l/_bovL0aOoG42S


Find the length of PR, if

Watch Video Solution

AB = 12cm and DC = 8cm

https://dl.doubtnut.com/l/_bovL0aOoG42S

